
SAP ABAP table /BEV3/CHSL1000D1 {Data Display Structure}

_BEV3_CHSL1000D1

YVWDNR [NUMC (13)]

VBKL [CHAR (4)]

RI [NUMC (6)]

SALG [NUMC (4)]

SALA [NUMC (4)]

VBKL_WL [CHAR (4)]

RI_WL [NUMC (6)]

ANLN1 [CHAR (12)]

ANLN2 [CHAR (4)]

BUKRS [CHAR (4)]

EQUNR [CHAR (18)]

VERW [NUMC (4)]

HASB [NUMC (4)]

HASB1 [NUMC (4)]

HASB2 [NUMC (4)]

HASB3 [NUMC (4)]

HASB4 [NUMC (4)]

HASB5 [NUMC (4)]

HASB6 [NUMC (4)]

HASB7 [NUMC (4)]

HASB8 [NUMC (4)]

HASB9 [NUMC (4)]

BEDINGG1 [NUMC (4)]

BEDINGG2 [NUMC (4)]

BEDINGG3 [NUMC (4)]

CHSLBEDING [NUMC (4)]

_BEV3_CHCBDG

MANDT [CLNT (3)]

BEDINGG [NUMC (4)]

 /BEV3/CHSL1000D1-BEDINGG1 = /BEV3/CHCBDG-BEDINGG 

0..N

1

 /BEV3/CHSL1000D1-BEDINGG2 = /BEV3/CHCBDG-BEDINGG 

0..N

1

 /BEV3/CHSL1000D1-BEDINGG3 = /BEV3/CHCBDG-BEDINGG 
0..N

1

 /BEV3/CHSL1000D1-CHSLBEDING = /BEV3/CHCBDG-BEDINGG 
0..N

1

_BEV3_CHCHASB

MANDT [CLNT (3)]

HASB [NUMC (4)]

 /BEV3/CHSL1000D1-HASB = /BEV3/CHCHASB-HASB 

0..N

1  /BEV3/CHSL1000D1-HASB1 = /BEV3/CHCHASB-HASB 

0..N

1  /BEV3/CHSL1000D1-HASB2 = /BEV3/CHCHASB-HASB 

0..N

1  /BEV3/CHSL1000D1-HASB3 = /BEV3/CHCHASB-HASB 

0..N1  /BEV3/CHSL1000D1-HASB4 = /BEV3/CHCHASB-HASB 
0..N

1  /BEV3/CHSL1000D1-HASB5 = /BEV3/CHCHASB-HASB 
0..N

1  /BEV3/CHSL1000D1-HASB6 = /BEV3/CHCHASB-HASB 
0..N

1  /BEV3/CHSL1000D1-HASB7 = /BEV3/CHCHASB-HASB 

0..N

1
 /BEV3/CHSL1000D1-HASB8 = /BEV3/CHCHASB-HASB 

0..N

1

 /BEV3/CHSL1000D1-HASB9 = /BEV3/CHCHASB-HASB 

0..N

1

_BEV3_CHCSALA

MANDT [CLNT (3)]

SALA [NUMC (4)]

 /BEV3/CHSL1000D1-SALA = /BEV3/CHCSALA-SALA 

0..N

1

_BEV3_CHCSALG

MANDT [CLNT (3)]

SALG [NUMC (4)]

 /BEV3/CHSL1000D1-SALG = /BEV3/CHCSALG-SALG 
0..N1

_BEV3_CHCTRGI

MANDT [CLNT (3)]

RGIDENT [NUMC (6)]

 /BEV3/CHSL1000D1-RI_WL = /BEV3/CHCTRGI-RGIDENT 

0..N

1

_BEV3_CHCTVB

MANDT [CLNT (3)]

VBKLASSE [CHAR (4)]

 /BEV3/CHSL1000D1-VBKL_WL = /BEV3/CHCTVB-VBKLASSE 

0..N

1

_BEV3_CHCVERW

MANDT [CLNT (3)]

VERW [NUMC (4)]

 /BEV3/CHSL1000D1-VERW = /BEV3/CHCVERW-VERW 

0..N

1

ANLA

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

ANLN1 [CHAR (12)]

ANLN2 [CHAR (4)]

 /BEV3/CHSL1000D1-ANLN2 = ANLA-ANLN2 

0..N

1

ANLH

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

ANLN1 [CHAR (12)]

 /BEV3/CHSL1000D1-ANLN1 = ANLH-ANLN1 

0..N

1

EQUI

MANDT [CLNT (3)]

EQUNR [CHAR (18)]

 /BEV3/CHSL1000D1-EQUNR = EQUI-EQUNR 

0..N

0..N

T001

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

 /BEV3/CHSL1000D1-BUKRS = T001-BUKRS 

0..N

1


